Name: Adding three numbers
Adding three numbers

1) 76 +15+65= 11) 33+ 14 + 89 =
2) 54+90+45= 12) 80 + 55 + 98 =
3) 66 +40+49= 13) 33+ 86 + 87 =
4) 50+52+35= 14) 67 + 95+ 90 =
5 40+ 64 +80= 15) 68 + 58 + 71 =
6) 15+61+13= 16) 38 + 31 + 14 =
7) 34+98+90= 17) 34 + 19 + 88 =
8) 22+28+29= 18) 34 + 29 + 66 =
9) 14+ 15+44 = 19) 66 + 45 + 26 =
10) 85 + 37 + 88 = 20) 53 + 15 + 69 =

Answers, fold under: Mark your work when you have finished.

1) 156 6) 89 11) 136 16) 83
2) 189 7) 222 12) 233 17) 141
3) 155 8) 79 13) 206 18) 129
4) 137 9) 73 14) 252 19) 137
5) 184 10) 210 15) 197 20) 137
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